

$$a = \sqrt[4]{\sqrt{y} - y} \quad b = \sqrt[4]{\sqrt{y} + y}$$

$$(a^4 + b^4 - 4ab)^4 (a^4 + b^4 + 4ab)^4 = t(1 - \sqrt{y})$$

$$(a^4 - b^4)^4 = (a - b)^4 (a + b)^4 = t(1 - \sqrt{y})$$

$$A = (\sqrt[4]{\sqrt{y} - y})^4 - (\sqrt[4]{\sqrt{y} + y})^4$$

$$A = \sqrt{y} - y - \sqrt{y} + y = 0$$

$$A^4 = (\sqrt{y} - y + \sqrt{y} + y - 2\sqrt{y})^4 = 16y^2$$

$$A^4 = 16y^2 = 16y^2(\sqrt{y} - 1)$$

$$A^4 = 16y^2(\sqrt{y} - 1) = 16y^2(\sqrt{y} - 1)$$

$$t = 16y^2$$

9

$$a = \sqrt[4]{y - y\sqrt{y}} = \sqrt[4]{(y - y\sqrt{y})^4} = \sqrt{y - y\sqrt{y}}$$

$$(a + \frac{1}{a} + \sqrt{y})^4 (a + \frac{1}{a} - \sqrt{y})^4 = y^4$$

$$\frac{1}{y - y\sqrt{y}} = \frac{y + \sqrt{y}}{y}$$

$$(a + \frac{1}{a} + \sqrt{y})^4 = y^4$$

$$(y - \sqrt{y} + y + \sqrt{y})^4 = 16y^4 \Rightarrow t = 16y^4$$

9

$$A = \sqrt[4]{\sqrt[4]{y} \sqrt[4]{16}} = (\frac{1}{y})^{\frac{1}{4}}$$

$$A = y^{\frac{1}{4}} \times y^{\frac{1}{4}} \times y^{\frac{1}{4}} = y^{\frac{3}{4}}$$

$$(yA)^{\frac{1}{4}} = (y^{\frac{3}{4}})^{\frac{1}{4}} = y^{-\frac{1}{4}} = \frac{1}{y^{\frac{1}{4}}}$$

1

$$\sqrt[4]{a} = y\sqrt[4]{a} \frac{10}{y} \quad a^{\frac{1}{4}} = y\sqrt[4]{a} \frac{10}{y}$$

$$a^{\frac{1}{4}} = \frac{1}{y\sqrt{y}} \Rightarrow a = \frac{1}{\sqrt{y}} = \frac{1}{y\sqrt{y}} = \frac{\sqrt{y}}{y^2}$$

$$\frac{\frac{1}{a} - y}{1 + \sqrt{y}} = \frac{\frac{y}{\sqrt{y}} - y}{1 + \sqrt{y}} = \frac{y\sqrt{y} - y}{1 + \sqrt{y}} = \frac{y(\sqrt{y} - 1)}{1 + \sqrt{y}} = \frac{y(\sqrt{y} - 1)^4}{y}$$

$$= \frac{y(\sqrt{y} + 1 - y\sqrt{y})}{y} = \frac{y(\sqrt{y} + 1 - y\sqrt{y})}{y}$$

9

$$A = \sqrt{x+a} - \sqrt{x-r} = y$$

$$B = \sqrt{x+a} + \sqrt{x-r}$$

$$AB = (\sqrt{x+a})^4 - (\sqrt{x-r})^4 = x+a - x+r = r+a$$

$$B = \frac{r+a}{y} = y + \frac{a}{y}$$

$$\sqrt{x+a} + \sqrt{x-r} - y = y + \frac{a}{y} - y = \frac{a}{y}$$

1.